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/************** o1 *************/

#include<iostream>
using namespace std;
main()
{

double x, y;

cin >> x;

y = x * x;

cout << y << endl;

/************** 02 *************/

#include<iostream>
using namespace std;
main()
{
double r, s, p;
cin >> r;
s = 3.14 * p ¥ p;
p=2%3.14 * r;
cout << s << endl << p << endl;

/************** 03 *************/

#include<iostream>
using namespace std;
main()
{
double a, b, s, p;
cin >> a >> b;
p=2%*(a+b);
s = a * b;
cout << s << endl << p << endl;
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/************** 04 *************/

#include<iostream>
using namespace std;
main()
{
int a, b, c;
double m;
cin >> a > b >> c;
m=(a+b+c)/ 3.0;
cout << m << endl;

/************** 05 *************/

#include<iostream>
using namespace std;
main()
{

char x;

cin >> Xx;

cout << x << endl;

/************** 06 *************/

#include<iostream>
using namespace std;
main()
{
int x;
cin >> Xx;
if(x % 2 == 0)
cout << "zoj ast" << endl;
else
cout << "fard ast" << endl;



/************** 07 *************/

#include<iostream>
using namespace std;
main()
{
double a, b, c;
cin >> a > b > c;
if(a == b & a == ¢)
cout << "motasviol azla" << endl;
else
if(a==b || a==c || b==2c)
cout << "motasaviossagheyn" << endl;
else
cout << "mokhtalefol azla" << endl;

/************** 08 *************/

#include<iostream>
using namespace std;
main()

{

double a, b, c, m;

cin >> a > b >> c;

if(a*a == b*b + c*c)
m=b*c/ 2;
else
if(b*b == a*a + c*c)
m=a*c/ 2;
else
if(c*c == a*a + b*b)
m=a*b/ 2;
else
m=a+b+ c;



cout << m << endl;

/************** 09 *************/

#include<iostream>
using namespace std;
main()

{

double a, b, c;
cin >> a > b >> c;

if(a > b & a > ¢)
cout << a << endl;
else
if(b > c)
cout << b << endl;
else
cout << ¢ << endl;

/************** 10 *************/
#include<iostream>

using namespace std;

main()

{

int m;
cin >> m;

if(m >= 1 & m <= 6)
cout << "31 rooz" << endl;
else

o o= 9 - 0 " A A\



cout << "30 rooz" << endl;
else
if(m == 12)
cout << "29 rooz" << endl;
else
cout << "eshtebah" << endl;

[X¥*ExERERKRKEX 19 paveshe digar *¥*¥x¥x*/
#include<iostream>
using namespace std;

main()

{
int m;
cin >> m;
switch(m)
{

case 1: case 2: case 3:

case 4: case 5: case 6:
cout << "31 rooz" << endl;
break;

case 7: case 8: case 9:

case 10: case 11:
cout << "30 rooz" << endl;
break;

case 12:
cout << "29 rooz" << endl;
break;

default:
cout << "eshtebah" << endl;



/************** 11 *************/

#include<iostream>
using namespace std;
main()

{

char x;

cin >> x;

if(x=='a"||x=="e"|[x=="1"||x=="0"| |x=="u"| |x=="
| Ix=="A"||x=="E"|[x=="1"||[x=="0"][x=="U"||[x=="Y")
cout << "harfe seda dar" << endl;
else
if(x >= 'a' && x <= 'z' || x >= 'A' && x <= 'Z")
cout << "harfe bi seda" << endl;
else
if(x>= '0" && x <= '9'")
cout << "ragham" << endl;
else
cout << "sayer" << endl;

/************** 12 *************/

#include<iostream>
#include<math.h>
using namespace std;
main()

{

double a, b, ¢, delta, x1, x2;

cin >> a > b >> c;
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if(delta > 9)

{
x1 = (-b + sqrt(delta))/(2*a);
x2 = (-b - sqrt(delta))/(2*a);
cout << "2ta rishe darad: " << x1 << ", " << x2
<< endl;
}
else
if(delta == 9)
{

x1 =-b/ (2 * a);

cout << "yek rishe darad: " << x1 << endl;
}
else

cout << "rishe nadarad" << endl;

/************** 13 *************/

#include<iostream>
using namespace std;
main()
{
int i;
for(i = 1; i <= 100; i++)
cout << 1 << endl;

/************** 14 *************/

#include<iostream>
using namespace std;
main()
{
int i;
for(i = 100; i <= 999; i++)
cout << i << endl;



/************** 15 *************/

#include<iostream>
using namespace std;
main()
{
int i;
for(i = 101; i <= 999; i += 2)
cout << 1 << endl;

/************** 16 *************/

#include<iostream>
using namespace std;
main()
{
int i;
for(i = 100; i <= 999; i += 2)
cout << 1 << endl;

/************** 17 *************/

#include<iostream>
using namespace std;
main()
{
int i;
for(i =999; i > 100; i -= 2)
cout << 1 << endl;

/************** 18 *************/



#include<iostream>
using namespace std;
main()
{
int i;
for(i = 1000; i <= 9999; i++)
if(i %7 ==0 & i % 3 !=0)
cout << 1 << endl;

/************** 19 *************/

#include<iostream>
using namespace std;
main()
{
int i, x;
cin >> x;
for(i = 1; i <= x; i++)
cout << 1 << endl;

/************** 20 *************/

#include<iostream>
using namespace std;
main()
{

int i, x;

cin >> Xx;

for(i = 1; i <= x; i++)

if(x % 1 0)
cout << 1 << endl;

/************** 21 *************/

Hanecludecioctraams



using namespace std;

main()
{
int i, x, n = 0;
cin >> x;
for(i = 1; i <= x; i++)
if(x % i == 0)
n++;

cout << n << endl;

/************** 22 *************/

#include<iostream>
using namespace std;
main()
{

int i, x, n = 0;

cin >> Xx;

for(i = 1; i <= x; i++)

if(x % i == 0)
nN++;

if(n == 2)

cout << "avval ast" << endl;
else

cout << "avval nist" << endl;

/************** 23 *************/

#include<iostream>
using namespace std;
main()

int i, x, y;
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for(i = 1; i <= x; i++)
if(x % 1 ==08&& y % i ==
cout << 1 << endl;
}
/************** 24 *************/
#include<iostream>
using namespace std;
main()
{
int i, x, y;
cin >> X >> vy;
for(i = x; 1 > 0; i--)
if(x % 1 ==08&& y % i ==
break;
cout << 1 << endl;
}
/************** 25 *************/
#include<iostream>
using namespace std;
main()
{
int i, x, y;
cin >> x >> y;
for(i =x; 1%y !=0; i += x)

)

cout << 1 << endl;

/************** 26 *************/

#include<iostream>

0)

0)



using namespace std;

main()
{
int i, x;
cin >> x;
for(i = 0; x > 0; i++)

X /= 10;

cout << 1 << endl;

/************** 27 *************/

#include<iostream>
using namespace std;
main()
{
int i, x, m = 0;
cin >> Xx;
for(i = 0; x > 0; i++)
{
m+= X % 10;
X /= 10;

cout << m << endl;

/************** 28 *************/

#include<iostream>
using namespace std;
main()
{
double x, m = Q;
int i;



cin >> Xx;
m += X;

cout << m << endl;

/************** 29 *************/

#include<iostream>
using namespace std;
main()
{
double x, m = 1;
int i;

for(i = 0; i < 100; i++)
{

cin >> x;

m *= Xx;

cout << m << endl;

/************** 30 *************/

#include<iostream>
using namespace std;
main()
{
double x, m = 0;
int i;

for(i = 0; i < 100; i++)
{



cin >> Xx;
m += X;

cout << (m / 100) << endl;

/************** 31 *************/

#include<iostream>
using namespace std;
main()
{

double x;

int i, n = 0;

for(i = 0; i < 100; i++)
{ °
cin >> x;
if(x > 0)
nN++;

cout << n << endl;

/************** 32 *************/

#include<iostream>
using namespace std;
main()
{
double x, m = 0;
int i;

for(i = 0; i < 100; i++)
{



cin >> Xx;
if(x > 0)
m += X;

cout << m << endl;

/************** 33 *************/

#include<iostream>

using namespace std;

main()

{
double x, ml1 = 0, m2 = Q;
int i, n1 = 9, n2 = 0;

for(i = 0; i < 100; i++)
{
cin >> Xx;
if(x > 0)
{
ml += X;
nl++;

}

else

{
m2 += X;
n2++;

cout << (m1 / nl1) << endl << (m2 / n2) << endl;

/************** 34 *************/



using namespace std;

main()
{
int x, i, f = 1;
cin >> x;
for(i = 1; i <= x; i++)
f *= i

cout << f << endl;

/************** 35 *************/

#include<iostream>
using namespace std;
main()
{
double x, m = 0;
int i;

for(i = 0; i < 100; i++)
{ °
cin >> x;
if(x > m)
m = X;

cout << m << endl;

/************** 36 *************/

#include<iostream>
using namespace std;
main()
{
double x, m = 20;
int i;



for(i = 0; i < 100; i++)
{ .
cin >> x;
if(x < m)
m = X;

cout << m << endl;

/************** 37 *************/

#include<iostream>
using namespace std;
main()

{

double x, m = 0;
int i;

for(i = 0; i < 100; i++)
{

cin >> Xx;
if(x < 12 & x > m)
m = X;

cout << m << endl;

/************** 38 *************/

#include<iostream>
using namespace std;
main()

{

double x, m = 0;
int i, n = 0;



for(i = 0; i < 100; i++)
{
cin >> Xx;
if(x > 15)
{
m += X;
nN++;

cout << (m / n) << endl;

#include<iostream>

using namespace std;

main()

{
double x, ml1 = 0, m2 = Q;
int i;

for(i = 0; i < 100; i++)
{

cin >> x;
if(x >= ml)
{
m2 = ml;
ml = X;
}
else
if(x >= m2)
m2 = X;

cout << m2 << endl;



/************** 40 *************/

#include<iostream>
using namespace std;
main()
{
double m = 0;
int i;

for(i = 1; i <= 1000; i++)
m+= 1.0 / i;

cout << m << endl;

/************** 41 *************/

#include<iostream>
using namespace std;
main()
{
double m = 0;
int i;

for(i = 1; i <= 1000; i++)
if(i % 2 == 1)
m+= 1.0 / i;
else
m -

1.0 / i;

cout << m << endl;

[¥F*KdRkkkkkkkk 4] paveshe digar *x¥kkksksk/



#include<iostream>
using namespace std;

main()
{
double m = 0, a = 1;
int i;
for(i = 1; i <= 1000; i++, a = -a)

m+=a / 1i;

cout << m << endl;

/************** 42 *************/

#include<iostream>
using namespace std;
main()
{
double m = 1;
int i;
for(i =1 100; i += 2)

;1<
m*=3i/ (i + 1.0);

cout << m << endl;

/************** 43 *************/

#include<iostream>
using namespace std;
main()
{
double m = 0;
int i;



for(i = 1; i < 100; i += 2)
m+=1i* (i +1.0) / (i +1i + 1.09);

cout << m << endl;

/************** 44 *************/
#include<iostream>

using namespace std;

main()

{
double t =1, m =0, a = 1.0;
int i;

for(i = 2; t >= le-4; i++)

{
t *= 1.0 / i;
m+=a * t;
a = -aj;

}

cout << m << endl;

/************** 45 *************/

#include<iostream>
using namespace std;
main()

{
double x, t =1, m =0, a = 1.0;
int i;

cin >> Xx;
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cout << m << endl;

/************** 46 *************/

#include<iostream>
#include<math.h>
using namespace std;
main()
{
double x, t =1, m = 0;
int i;

cin >> Xx;

for(i = 1; fabs(t) >= le-4; i++)
{

t *=x / i;

m+= t;

cout << m << endl;

/************** 47 *************/

#include<iostream>
using namespace std;
main()

{
double x, t =1. m
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int i;

cin >> x;
m=1t = Xx;

for(i

{

2; t >= 1le-4; i += 2)

t*=x*x/ (1 * (i +1));
m+= a * t;
a = -a;

cout << m << endl;

/************** 48 *************/

#include<iostream>
using namespace std;
main()
{
int i, n = 0;
double x;
cin >> n;
for(i = 0; i < n; i++)
{ o
cin >> x;
if(x > 10 & & x < 15)
n++;
}

cout << n << endl;

/************** 49 *************/

#include<iostream>
using namespace std;



int n;
double x, m = 0;

for(n = ©; ; n++)

{ .
cin >> x;
if(x < 0)
break;
m += X;
}

cout << (m / n) << endl;

/************** 5@ *************/
#include<iostream>

using namespace std;
main()

{

double x, m = 1;
int n, i;

cin >> X >> n;

for(i = 0; i < n; i++)
m *= x;

cout << m << endl;

/************** 51 *************/

#include<iostream>



using namespace std;
main()

{
int i, y, d;

for(i = 10; i <= 99; i++)
{

y =1 % 10;

d =1/ 10;

if(i % (y + d) == 0)
cout << 1 << endl;

/************** 52 *************/
#include<iostream>

using namespace std;

main()

{

int x, y, m = 0;

cin >> x;

y = X;

for(; vy > 0; y /= 10)
m=m?*10 + vy % 10;

cout << (x * m) << endl;

/************** 53 *************/

#include<iostream>
using namespace std;
main()
{
int n, i;
double a =1, b = 5, c;

1N SS N°



if(n == 1)
cout << a << endl;

else
if(n == 2)
cout << b << endl;
else
{
for(i = 2; i < n; i++)
{
c=(a+b)/ 2;
a = b;
b =c;
}
cout << ¢ << endl;
}

/************** 54 *************/

#include<iostream>
using namespace std;
main()

{

int a, b, c;
cin >> a >> b;

while(b > 9)

{
c =a%b;
a = b;
b =c;

}

cout << a << endl;
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#include<iostream>
using namespace std;
main()
{
int n, i;
double x, sumx = @, sumx2 = @, Vv;

cin >> n;

for(i = 0; i < n; i++)

cin >> Xx;
sumx += X;
sumx2 += X * Xx;

v =sumx2 / n - (sumx / n) * (sumx / n);
cout << v << endl;

#include<iostream>
using namespace std;
main()

{
int x, b, d

=1, y = 0;
cin >> x >> b;

for(; x > 9; x /= b)

y += (x % b ) * d;
d *= 10;

cout << y << endl;



/************** 57 *************/

#include<iostream>
using namespace std;
main()

{

int i, j;

for(i = 1; i <= 10; i++)
{
for(j = 1; j <= 10; j++)

cout << (i * j) << 5

cout << endl << endl;

/************** 58 *************/

#include<iostream>
using namespace std;
main()

{

int i, j;

for(i = 20; i > @0; i--)

{
for(j = 0; j < i; j++)
cout << "*";
cout << endl;
}



/************** 59 *************/

#include<iostream>
using namespace std;
main()

{

int i, j;

for(i = 20; i >= 0; i--)

{
for(j = 0; j < i; j++)
cout << " " << endl;
cout < MEEREEkERERRkkkkKER" (¢ andl;
}

/************** 60 *************/

#include<iostream>
using namespace std;
main()

{

int i, j;

for(i = 1; i <= 20; i++)

{
for(j = 0; j < 20; j++)
cout << " "
for(j = 0; j < i; j++)
cout << "*";
cout << endl;
}



/************** 61 *************/

#include<iostream>
using namespace std;
main()

{

int i, j, s;

for(i =20, s = 1; 1 »>=0; i--, s += 2)

{
for(j = 0; j < i; j++)

cout <« H

for(j = 0; j < s; j++)
cout << "*";

cout << endl;

/************** 62 *************/

#include<iostream>
using namespace std;
main()

{

int i, j, n;

for(i

{

1000; i <= 9999; i++)

n = 0;
for(j = 1; j <= 1i; j++)
if(i % j == 0)
n++;

if(n == 2)
cout << 1 << endl;



/************** 63 *************/

#include<iostream>
using namespace std;
main()

{

int x, i, p;
cin >> x;

for(i = 2; i <= x; i++)

{
for(p = 0; X % i == 0; p++)
X /= 1;
if(p > 9)
cout << 1 << " ~ " << p << endl;
}

/************** 64 *************/

#include<iostream>
using namespace std;
main()
{
double x[50];
int i;

for(i = @; i < 50; i++)
cin >> x[i];

for(i = 49; i >= 0; i--)
cout << x[i] << endl;



/************** 65 *************/

#include<iostream>
using namespace std;
main()

{

double x[50];
int i, n = 0;

for(i = @; i < 50; i++)
cin >> x[i];

for(i = @; i < 50; i++)
if(x[i] < x[49])
n++;

cout << n << endl;

/************** 66 *************/
#include<iostream>

using namespace std;
main()

{

double x[50], m = @, a, d;
int i, n = 0;

for(i = ©; i < 50; i++)
{

cin >> x[i];

m += x[i];

a=m/ 50;
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cout << n << endl;

#include<iostream>

using namespace std;

main()

{
double x[50], m = 0, d;
int i;

for(i = @; i < 50; i++)
{

cin >> x[i];

if(x[i] > m)

m = x[i];

}
d =20 - m;
for(i = @; i < 50; i++)
{

x[i] += d;

cout << x[i] << endl;



/************** 68 *************/
#include<iostream>
using namespace std;
main()
{
double x[50], m = @, a, d, adm = @, ad;
int i;

for(i = 0; i < 50; i++)

{
cin >> x[i];
m += x[i];
}
a=m/ 50;
for(i = 0; i < 50; i++)
{
d = x[i] - a;
if(d < 9)
d = -d;
adm += d;
}

ad = adm / 50;
cout << ad << endl;

/************** 69 *************/

#include<iostream>
using namespace std;
main()
{
double x[50] = {0}, a, mx;
int n[50] = {0}, i, nf = @, maxf = 0, j;



cin >> a;
for(j = 0; j < nf; j++)
if(x[j] == a)
{
n[j]++;
break;
}
if(j == nf)
{
x[nf] = a;
n[nf]++;
nf++;
}

for(i = 0; i < 50; i++)
if(n[i] > maxf)
{
maxf = n[i];
mx = x[1];

cout << mx << endl;

using namespace std;
main()
{
double x[50], a;
int i, nf = 0, j;
for(i = ©; i < 15; i++)
{ .
cin >> a;
for(j = 0; j < nf; j++)



if(x[j] == a)

break;
if(j == nf)
{
x[nf] = a;
nf ++;
}

for(i = 0; i < nf; i++)
cout << x[i] << endl;

#include<iostream>
using namespace std;
main()
{
int a[50] = {0};
int x, i;
cin >> x;

for(i = 0; x > 0; i++)

{
al[i] = x % 2;
X /= 2;

for(i = 49; a[i] == 0 && i >= 0; i--)

3

for(; i >= 0; i--)
cout << a[i];

cout << endl:



/************** 72 *************/

#include<iostream>
using namespace std;
main()

{

int a[50];
int x, i, j;

cin >> Xx;

for(i = 0; x > 0; i++)

{
al[i] = x % 10;
X /= 10;

}

i--3

for(j = 0; j < i; j++, i--)
if(a[i] != a[j])
break;

if(j >= 1)

cout << "motagharen ast" << endl;
else

cout << "motagharen nist" << endl;

/************** 73 *************/

#include<iostream>
using namespace std;
main()

{

int i, i



double x[50], t;

for(i = @; i < 50; i++)
cin >> x[i];

for(i = 49; i > 0; i--)
for(j = 0; j < i; j++)
if(x[3] > x[J + 1])

{
t = x[3];
x[j] = x[j + 1];
x[j + 1] = t;

}

for(i = @; i < 50; i++)
cout << x[i] << endl;

#include<iostream>
using namespace std;
main()
{

int i, j;

double x[50], t;

for(i = ©; i < 50; i++)
cin >> x[i];

for(i = 49; i > 0; i--)
for(j = 0; j < i; j++)
%f(X[j] > x[j+1])
t = x[]];
x[j] = x[j+1];
x[j+1] = t;



cout << x[25] << endl;

/************** 75 *************/

#include<iostream>
using namespace std;
main()
{
double x[1000];
int i, n;
cin >> n;
x[1] = 1;
x[2] = 5;

for(i = 3; i <= n; i++)
x[i] = (x[i-1] + x[i-2]) / 2;

cout << x[n] << endl;

/************** 76 *************/

#include<iostream>
using namespace std;
main()
{
int a[50] = {0};
int x, b, i;
cin >> x >> b;

for(i = 0; x > 0; i++)
{

a[i]

U 1

i
x /



fOP(i = 49; a[i] == 0 && i >= 0; i--)

)

for(; i >= 0; i--)
cout << a[i];

cout << endl;

/************** 77 *************/

#include<iostream>
using namespace std;
main()

{

string p;

int i, n1 = 0, n2 = 9, n3 = 0;
for(i = 0; i < 50; i++)

{

cin >> p;
if(p == "ali")
nl++;

if(p.length() == 6)
n2++;

if(p[0] == 'k')
n3++;

}

cout << nl << endl << n2 << endl << n3 << endl;

/************** 78 *************/

#include<iostream>



using namespace std;
main()
{
string p, t;
int i, n = 0;
for(i = @; i < 50; i++)

{
cin >> p;
if(p.length() > n)
{
n = p.length();
t =p;
}
}

cout << t << endl;

/************** 79 *************/

#include<iostream>
using namespace std;
main()
{
string p;
cin >> p;
cout << p[p.length() - 1] << endl;

/************** 80 *************/

#include<iostream>
using namespace std;
main()
{
char c;
string p;
int i, n=0;
cin >> p >> c;
Lomml=_Ne = 2 v TAamemertdl/Z\N. =..\



if(p[i] == c)
n++;

cout << n << endl;

/************** 81 *************/

#include<iostream>
using namespace std;
main()
{

string p;

int i;

cin >> p;

for(i=p.length()-1; i>=0; i--)
cout << p[i];

cout << endl;

/************** 82 *************/

#include<iostream>
using namespace std;
main()
{
string p;
int i;
cin >> p;
for(i = 0; i < p.length(); i++)
if(p[i] != 'a' && p[i] != 'e' && p[i] != 'i' &&
p[i] != 'o' && p[i] !="y")

cout << p[i];

cout << endl;



/************** 83 *************/

#include<iostream>
using namespace std;
main()
{
string p, q;
int i;
cin >> p;
for(i = 0; i<p.length(); i++)
if(p[i] != 'a' && p[i] !'= 'e' && p[i] != 'i’
&& p[i] !'= 'o' && p[i] !'= 'y")

q += p[i];

/************** 84 *************/

#include<iostream>
using namespace std;
main()
{

string p;

int n = 0, i, has;

for(;;)
{
cin >> p;
if(p == "finish")
break;
has = 0;

for(i = 0; i<p.length(); i++)
if(p[i] >= '@' && p[i] <= '9")
{



has = 1;

break;
}
if(has == 1)
n++;

cout << n << endl;

#include<iostream>
using namespace std;
main()
{
double x[3][4], m = ©;
int i, j;
for(i = 0; i < 3; i++)
for(j = 0; j < 4; j++)
{
cin >> x[i][3j];
m += x[i][]];

cout << m << endl;

for(i = 0; i < 3; i++)

{
for(j = 0; j < 4; j++)
cout << x[i][j] << " ";
cout << endl;
}



/************** 86 *************/

#include<iostream>
using namespace std;
main()
{
double x[3][4];
int i, j;
for(i = 0; i < 3; i++)
for(j = 0; j < 4; j++)
cin >> x[i][3j];

for(i = 0; i < 3; i++)

{
for(j = 0; j < 4; j++)
cout << x[F][i] << " "3
cout << endl;
}

/************** 87 *************/
#include<iostream>

using namespace std;

main()

{
double x[10][10], a =0, b = 1, c;
int n, i, j, d = 0, e = 0;

cin >> n;

for(i = 0; i < n; i++)
for(j = 0; j < n; j++)
{
cin >> x[i][3j];
if(x[i][j]<e)



c = x[e][e];

for(i = 0; i < n; i++)

{
a += x[i][0];
b *= x[n-1][i];
if(x[i][i] > c)
c = x[i][i];
if(x[i][n-1-i] == @)
d++;
}
cout << a << " "< b<k< " "<k " "xkkd
<< " " << e << endl;

#include<iostream>

using namespace std;

main()

{
double a[10][10], b[10][10], c[10][10] = {0};
int i, j, k, my n, p;

cin >> m >> n >> p;

for(i = 0; i < m; i++)
for(j = 0; j < n; j++)
cin >> a[i][j];



for(i = 0; i < n; i++)
for(j = @; J < p; J++)
cin >> b[i][j];

for(i = 0; i < m; i++)
for(j = @5 J < p; J++)
for(k = ©0; k < n; k++)
c[i][j] += a[i][k] * b[k][]];

for(i = 0; i < m; i++)

{
for(j = @; j < p; j++)
cout << c[F][i] << " "3
cout << endl;
}

#include<iostream>
using namespace std;
main()

{

9;

int x[29][3], i, j, n1 =0, n2 = @, n4 = @, n5

int maxg = @, maxm = @, m;

for(i = @; i < 29; i++)
{
m = 0;
cout << "tedade tala,noghre va boronze sale
(1360 + i) << " ? " << endl;

for(j = 0; j < 3; j++)
{

cin >> x[i][3j];

<<



}

nl += m;

n2 += x[i][0];

if(x[i][e] * 3 + x[i][1] * 2 + x[i][2] > 10)

n7++;
if(m > maxm)
{
maxm = m;
nd = i + 1360;
}
if(x[i][@] > maxg)
{
maxg = x[i][0];
n5 = i + 1360;
}
}
cout << "--------- answer (1) ----- " << endl;

cout << nl << endl;

cout << "--------- answer (2) ----- " << endl;
cout << n2 << endl;

cout << "--------- answer (3) ----- " << endl;
for(i = 0; i < 29; i++)
if(x[i][@] + x[i][1] + x[i][2] == @)
cout << (1360 + i) << endl;

cout << "--------- answer (4) ----- " << endl;
cout << n4 << endl;

cout << "--------- answer (5) ----- " << endl;
cout << n5 << endl;

cout << "--------- answer (6) ----- " << endl;
for(i = ©; i < 29; i++)
cout << "sal " << (1360 + i) <«
e mAaANn= " ¢¢ (Y1101 *¥ 2 4+ wl41r11 * 2 4 wlrA11ro1\)



<< endl;

cout << "--------- answer (7) ----- " << endl;
cout << n7 << endl;

/************** 920 *************/

#include<iostream>
using namespace std;
main()
{
string p[50];
int i;
for(i = ©; i < 50; i++)
cin >> p[i];

for(i = 0; i < 50; i++)
if(p[i][@] == p[i][p[i].length() - 1])
cout << p[i] << endl;

/************** 91 *************/

#include<iostream>
using namespace std;
main()
{
string p[50], t;
int i, j;
for(i = @; i < 50; i++)
cin >> p[i];

for(i = 49; i > 0; i--)
for(j = 0; j < i; j++)
if(p[j]l > p[J + 1])
{



p[j]l = p[]J + 1];
p[j + 1] = t;

for(i = @; i < 50; i++)
cout << p[i] << endl;

#include<iostream>

#include<math.h>

using namespace std;

main()

{
double x[100], a, sum = @, mindiff, y;
int i;

for(i = 0; i < 100; i++)
{

cin >> x[i];

sum += x[i];

a = sum / 100;
mindiff = fabs(x[0] - a);
y = x[0];

for(i = 1; i < 100; i++)
if(fabs(x[i] - a) < mindiff)

{
mindiff = fabs(x[i] - a);

y = x[i];

cout << y << endl;



#include<iostream>

#include<math.h>

using namespace std;

main()

{
double scores[100][10], err[10] = {0}, m, maxscore = 0O;
string names[100];
int i, j, k, b, c;

for(i = 0; i < 100; i++)

{
cout << "Enter name and scores of sportman # "
<< (i + 1) << endl;
cin >> names[i];
for(j = 0; j < 10; j++)
cin >> scores[i][j];
}
for(i = 0; i < 100; i++)
{
m = 0;
for(j = 0; j < 10; j++)
m += scores[i][j] / 16O;
for(j = 0; j < 10; j++)
err[j] += fabs(scores[i][j] - m);
}
k = 0;

for(j = 1; j < 10; j++)
if(err[j] > err[k])
k = 3;

for(i = 0; i < 100; i++)



m= 0;
for(j = 0; j < 10; j++)

{
if(j == k)
continue;
m += scores[i][j];
}
if(m > maxscore)
{
maxscore = m;
b =1i;
}

maxscore = 0;
for(i = 0; i < 100; i++)
if(scores[i][k] > maxscore)
{
maxscore = scores[i][k];
c = 1i;

cout << "Briber is
cout << "Winner is

<< names[c] << endl;
<< names[b] << endl;



CHt ) & o Uiy y5 @il 4iged



Crt 3 4 s Uiy yo5 ol digos

o b
aigby | O a4l gl
LS ol
Q18,5 o 1) oul 0ols (g Ll due 90 (il \4 average
D10 )5 o 1y oul s0lo (g likel due dw (Sl \Y average
) Cdito (90 b 092 Cawyd g a8 S 1) el g1 Job o
1\4 istriangle
Iy ouls ool (gyliel due aw (o 3l Hlade o9 58,5
) Yy max
Q10,5 o0
SLll By g3 WS (o0 aie g a5 |y 5L .
B Yy isletter
CEN PR WS L %]
08l aily yo 1y oad sold LSTHIS ol H1,50 Gledo olaws
) ’ YA countchars
W10 )5 0 00
Iy oo oolo due o U 4w g0 S Oluw yio
_ fa rms
Al 5 o0
S5 oo 1y alyl o molie sluai g g lieel slasl 3l asl,] o
o — ) of rms
Wils )5 (o |y lyl slael Gla po yd
Iy oo 0810 Cuoglio Hlo b aw g0 Jolro (SO oSl Cuoglio
) £y parallel
A3l )5 o0
Pl o2 Sl 00l 0010 A dlawi 4y |y oo sold Al
. \24 chainprint
..\Jso
oolawl L1y (V) el duns 5<% chainprint U oS @
9 00,5 Sl ol 0018 cucld Job UL g vl ools ally jl AY printv
AR oo g lod
Iy ool 0018 o due b dde poumdin 8L zoxlols
395 3 due b alde pgmdo goxlols Sx) Wild S oy ay fctsuml
(due
plxl yoS HI,SG Oleds olowy b |y fetsuml &6 15 lon
\e¥ fctsum

..uwso

S 0 st fetsum U oS v a S 1y o due




Crt 3 4 s Uiy y85 olgs diges

ol 0018 o)L ;O S92 g0 Cawgd dlael fetsum b SoS

w2 b (FHge,y sae 9d) WS (o ola |y (max g min (y)

) \wy findfriends
S ade pgudo a8l ggozxo b plos ;2 45 situd Cawgd
(Wbl golws (5,590
WS 0 i fetsum b SoS a4y g 48,5 1) oo Sue
023l gaomo )51 Lad g 51 Cawl Jol sae) & L ol ol \YY isprime
(bl Sy bl T (sl Anke o guudio
Hladeo SO 5l xS o8 Jgl olacel plod isprime pob oS .
‘WY allprimes
.\15‘5.0 ul’ |) (max) ua.‘&w.o
FauST Gleedy LT WS o asiine 9 4385 1 (ummo s
lauST FYA g IVSY due Jln gl 4) & b diciwd gdgm0 141 issorted
(G YYYF g YFAY olacl 6.‘3 dowd (GO g0
oy Sy L o & o )b by a1y @IS .
B . _ oy digit
Wlo,5 (0 1) ol e Jolro bl Jlowws 38 b Jlowwod
a2 o0 plil i 3L W ygu0 4 1y fact U U8 YA fact2
Iy ool 0010 zumo dus 90 Iyl dude pomdio oy 55
’ VA% | bmm
.»I.:)S <oy
o9y W8> (oo plail (KASHL b9y 4 1) bmm bl
AR bmm2
(o5
S @]y (Alged Alio pn alos g 48,5 1) n o Sue
R P I P
- ¢ 100
90 goxlols gl oyl Wiloz plw 3l plaS y2 g 009) S 2l 2
1Y F-B- A=Y -¥1- ... sl b alo>
Solinel sus 98 jui g ol polic sluxy (g Linel al,] S ob
al,yl 351 G poblie luxi g 48,5 YU oo g b oo olgie a1y ™ atrange
D10 )5 o Wy18 w98 (! e (5 lode aS
&S oo bl o2 L1 oul 0010 (g line] piio g0 polio ™ xchange

w 1 1 1 L e 1 1 N 1 o e S-ar— | 1 & 1




Crt 3 4 s Uiy yo5 ol digos

sort 2l SwS 42 9 (2l (55w o po w2351 51 65 $SII L
yolic olawi b 1y g linel slael 31 sus ools ayl,l S (8

YYYf sort
o ((J9y b (g09%0) oud oold b 4 g ol oold
.»..1560
of pobis and )51 g aid )51y o1 polic olasi g 4l,T Sy pb
- Yf) allsame
Al 5 0 1, false Vg drue voduwd g9l o2 U
SASHE ST Ay S By 1y ol g axdyS 1) sl
B Y- char2str

2310 ,5" (0

&U S 4 g a8y ) ol ady o O g I SO .

. O i, YoF insertchar
WS o a8lal ol Al jurio glacol 4y |y ST, o1 char2str
W10 )5 oy 1y oo 0315 Ay By 49 451 \f4| lastchar
Jad g aidyS 1y o Gl g ous SO uled g9l axi,
B _ \fd4 changebasetol0
W3l0 45 09 1y 00 gl w due oyl o0
Iy Jools 900 0 00 0015 gl a1 00l 0810 Zuzxo Sue
ol B ) YVo changebasefroml0
Wils 5 (o 4y So By
ad )5 1) pgd glone 9 Jol sl coue S slkod ) (59l aic
Iy s slis & Js (slino 31 b o3ls sue fras Jeol> 5
_ ) YAA changebase

9 changebasetol0 &b 90 jI) .10, 5 o p aldy) SO JB,0
(8305 (o0 0 542 S (! gl changebasefrom10

Ay a1y oo 0010 Zumwo duce insertchar b oS @ .

5 Ya¥ int2str
W10,5 (o0 5 9 00,5 Joosd
Oly 4 oul oolo (g likel sue Jols (o glop o S5 1A i pow
Q10,5 o0 9 00l 0010 Fuxo Sus
A o plail (1,50 Oleds (o S L 1y ipow b, Yvyo ipow2




coNOuUVITh WNER

20
21
22
23
24
25
26
27
28
29
30
31
32
33
34
35
36
37
38
39
40
41
42

[[=====--mmmmmmeeaao C++ Functions Samples -------------
------------------ By: SallaR ------------c------//
#include <iostream>

#include <math.h>

using namespace std;

double average(double a, double b)

{

return (a + b) / 2;
}
double average(double a, double b, double c)
{

return (a + b + ¢) / 3;
}
bool istriangle(double a, double b, double c)
{

return a > 9 && b > 0 && c >0 & a +b > c & a+c > Db

& b + ¢ > a;
}
bool max(double a, double b, double c)
{

if(a >= b & a >= ¢)

return a;
if(b >= ¢)
return b;

return c;
}
bool isletter(char c)
{

return ¢ >= 'a' && c <= 'z"' || ¢ >= 'A' && c <= 'Z';
}

int countchars(string s, char c)

{

int n = 9, len
for(unsigned i
if(s[i] == c)

s.length();
0; i < len; i++)
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return n;

double rms(double a, double b = @, double c = @, double d = 9)
{

return sqrt(a * a+ b * b + c * ¢ + d * d);

}
double rms(double x[], int n)
{
double r = 0;
for(int 1 = 0; i < n; i++)
r += x[i] * x[i];
return sqrt(r);
}
double parallel(double R1, double R2, double R3 = @, double
R4 = 0)
{
double a = 1.0 / R1 + 1.0 / R2;
if(R3 = 0)
a += 1.0 / R3;
if(R4 != 0)
a += 1.0 / R4;
return 1.0 / a;
}
void chainprint(string s, int n = 1)
{
for(int 1 = 0; i < n; i++)
cout << s;
}
void printv(string marker = "*", int n = 21)
{
for(int 1 =0; n > 0; n -= 2, i ++)
{

chainprint( , 1);
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}
int fctsuml(int x)
{
int s = 0;
for(int 1 = 1; i < x; i++)
if(x % i == 0)
s += i;
return s;
}
int fctsum(int x)
{
int sgx = (int) sqgrt(x - 1.9), s =1, i;
for(i = 2; i <= sqx; i++)
if(x % i == 0)
s += 1 + x / i;
if(i * 1 == x)
S += i;
return s;
}

bool isperfect(int x)

{
}

return x == fctsum(x);

void findfriends(int min =

{

for(int i

{
int j

fctsum(i);

2, int max = 1000000)

min; i <= max;

if(j >= i && fctsum(j)

cout << 1 <«

3

i++)

== i)
<< j << endl;



134
135
136
137
138
139
140
141
142
143
144
145
146
147
148
149
150
151
152
153
154
155
156
157
158
159
160
161
162
163
164
165
166
167
168
169
170
171
172
173
174
175
176

return fctsum(x) == 1;

}
void allprimes(int max)
{
for(int i = 2; 1 <= max; i++)
if(isprime(i))
cout << 1 << endl;
}
bool issorted(int x)
{
int d = 10;
for(; x > 9; x /= 10)
{
if(x % 10 >= d)
return false;
d = x % 10;
}
return true;
}
unsigned digit(char c)
{
if(c >= 'a')
return 10 + ¢ - 'a';
if(c >= 'A")
return 10 + ¢ - 'A';
return c - '0’';
}

unsigned long fact(unsigned x)

{

unsigned long f = 1;

for(unsigned i = 2; i <
f *= 1i;

X; i++)

return f;
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if(x < 2)
return 1;

return x * fact2(x - 1);

}
int bmm(int a, int b)
{
for(int i = 1; i <= a; i++)
if(a%i==08& b % i == 0)
return i;
return 1;
}
int bmm2(int a, int b)
{
if(b == 0)
return a;
return bmm2(b, a % b);
}
unsigned fibo(int n)
{
if(n < 3)
return 1;
return fibo(n - 1) + fibo(n - 2);
}

int atrange(double a[], int n, double max, double min)

{
int m = 0;
for(int 1 = 0; i < n; i++)
if(a[i] < max && a[i] > min)
m++;

return m;

}

void xchange(double& a, double& b)
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}

void sort(double& a, double& b, bool ascending = true)
{
if(ascending & a > b || 'ascending && a < b)
xchange(a, b);

}

void sort(double x[], int n, bool ascending = true)
{
for(int i =n - 1; i > 0@; i--)
for(int j = 0; j < 1i; j++)
sort(x[j], x[j + 1], ascending);

}
bool allsame(double a[], int n)
{
for(int 1 = 1; i < n; i++)
if(a[i] !'= a[i - 1])
return false;
return true;
}
string char2str(char c)
{
char cc[] = { ¢, NULL };
return string(cc);
}
void insertchar(char c, string& s)
{
s = char2str(c) + s;
}
char lastchar(string s)
{
return s[s.length()-1];
}

int changebasetol@(string x, unsigned orgbase)



269 for(unsigned i = 9; i < n; i++)

270 a = a * orgbase + digit(x[i]);

271

272 return a;

273}

274

275 string changebasefroml@(unsigned x, unsigned newbase)
276 {

277 string s = "";

278

279 for(; x > @; x /= newbase)

280 if(x % newbase < 10)

281 insertchar('0' + x % newbase, s);
282 else

283 insertchar('A' + (x % newbase - 10), s);
284

285 return s;

286 }

287

288 string changebase(string x, unsigned basel, unsigned base2)
289 {

290 unsigned y = changebasetol9(x, basel);
291 return changebasefromld(y, base2);
292}

293

294  string int2str(int x)

295 {

296 if(x == 0)

297 return "0";

298

299 string s = "";

300 char dig[] = "\e\e";

301 bool neg = x < 0;

302

303 if(neg)

304 X = -X;

305

306 for(; x > 0; x /= 10)

307 {

308 dig[e] = 'e' + x % 10;

309 insertchar('0' + x % 10, s);

310 }

311
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By :

return s;
}
double ipow(double x, int n)
{
bool neg = n < 0;
if(neg)
n = -n;
double r = 1.0;
for(int i = @; i < n; i++)
r *= x;
if(neg)
return 1.0 / r;
return r;
}
double ipow2(double x, int n)
{
bool neg = n < 0;
if(neg)
n = -n;
double r;
for(r = 1.0 n > @; n /= 2, X *= x)
if(n % 2 == 1)
r *= x;
if(neg)
return 1.0 / r;
return r;
}
SallaR
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